
HS-471Roller Guide Parts List
( Lower Shown )

HS-696 Set        for 1/4" Saw Blade
HS-611 Set          for 3/8" & 1/2" Saw Blades
HS-332 Set        for 5/8" - 1" Saw Blades

HS-471     Complete Roller Guide Assembly
                Includes Upper & Lower Assy.

Sets Include 4 Side Rollers, Shafts, & Bearings

1

19

22

2

10

7

6

8

3

12

21

18

4 14 13

5

20

16

15

4/27/11

17

Item Number Quantity Document Number Title

1 2 HS-397-C Roller Guide Frame

2 2 HS-448-A Eccentric Roller Shaft Bushing

3 2 #213 Woodruff Key

4 2 15186 Roller Guide Frame/S-24-U

5 6 HS-332-A Rear Roller/All Blades-Side Roll 5/8-1

HS-332-Assy. Roller with Bearing

6 2 HS-528-A Rear Roller Shaft

7 2 HS-527-A Roller Shaft Bushing

8 2 5103-87 External Retaining Ring

9 obs. #1728 Alemite Grease Fitting

10 4 HS-538-A Roller Guide Clamp

11 4 3/8-16 x 1" Hex Bolt

12 4 HS-469-A 1 1/2 od Washer

13 2 HS-470-A Concentric Side Roller Shaft  5/8"-1"

14 4 HS-664-A Concentric Side Roll Shft-1/4",3/8",1/2"

15 4 HS-696-A Side Roller for 1/4" Saw Blade

HS-696-Assy Inc. HS-696,Rings,Bearings,Spacer

16 4 HS-611-A Side Roller 3/8"-1/2" Saw Blade

HS-611-Assy Inc. HS-611,Rings,Bearings,Spacer

17 12 N5000-137 Internal Retaining Ring

18 6 5101-66 External Retaining Ring

19 12 6003-2RS Bearing

20 2 HS-663-A Eccentric Side Roll Shft 1/4,3/8-1/2

21 2 HS-467-A Eccentric Side Roller Shaft  5/8" - 1"

22 6 HS-468-A Roller Guide Bearing Spacer

23 2 #10-24 Socket Head Cap Screw

24 2 #10 Star-Lock Washer

11

5

24

23


